Divect Multiplication of the Decimals
Anchor Chaet

1676

x 9.6
10056
95800
105,856

Steps:

1. First line up your numbeys vertically.

2. Then multiply the numbeps like you usually do,

3. After that count how many decimal numbers you have in
your factors, In this problem we have total 3 numbers aftey
the decimal point,

4. Now, place thhe decimal point in the product by counting the
same numbers from right side, Heve, we have the product
105856, After placing the decimal, the vesult is 105,856,
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Divect Multiplication of the Decimals

1 Fiest (ine
up your
numbeys
vertically.

4512
x3.41
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2. Multiply 3 Count how | &, Place the
the numbeys many deci- decimal point
like you usu- mal numbeps | in the product
ally do, you have in by counting
your factops, the same
numbeys from
pight side,
| l |
4312 4512 4312
x3.1 x31 x3.1
~—~ 4512 ~ 4512 4512
135360 135360 135360
139872 139872 139872
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